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29 11,348 5,796 5,552 3,377 1,714 1,663 3,799 1,920 1,879 4,172 2,162 2,010 4,443

30 10,791 5,535 5,256 3,253 1,678 1,575 3,679 1,901 1,778 3,859 1,956 1,903 4,219

It 9,744 4,959 4,785 2,813 1,389 1,424 3,339 1,720 1,619 3,592 1,850 1,742 3,866

2 9,188 4,650 4,538 2,773 1,431 1,342 3,037 1,48 1,551 3,378 1,733 1,645 3,609
SFISEERE| 8,261 4,155 4,106 2,458 1,242 1,216 2,845 1,461 1,384 2,958 1,452 1,506 3,425
A 136 78 58 17 8 9 60 39 21 59 31 28 58
N N| 3,575 1,838 1,737 959 491 468 1,262 681 581 1,354 666 688 1,739
= /N1 643 334 309 192 90 102 220 130 90 231 114 117 372
Aol 219 114 105 53 26 27 71 40 31 95 48 47 100
T I ] 92 47 45 31 16 15 28 17 11 33 14 19 71
&= omF 498 247 251 122 60 62 170 83 87 206 104 102 225
BlE Ol 442 202 240 118 56 62 181 92 89 143 54 89 265
Ehx 202 106 96 43 18 25 63 36 27 96 52 44 84
Wb 9 7 2 - - - 3 2 1 6 5 1 11
= B 9 823 453 370 218 124 94 295 169 126 310 160 150 331
+ o omT - - - - - - - - - - - - -
/N OB T 75 35 40 24 13 11 28 12 16 23 10 13 31
= A Hr 218 116 102 62 37 25 86 45 41 70 34 36 80
[IER I 1) - - - - - - - - - - - - -
EEE -] 56 30 26 15 7 8 20 12 8 21 11 10 36
Wy - - - - - - - - - - - - -
Z A 1 39 18 21 9 5 4 17 6 11 13 7 6 24
% & H T 150 7 73 41 23 18 54 27 27 55 27 28 56
FAD HHT 109 52 57 31 16 15 26 10 16 52 26 26 53
FA S2| 4,550 2,239 2,311 1,482 743 739 1,523 741 782 1,545 755 790 1,628




